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(n) y = sinh(v/2)
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9. Use logarithmic differentiation to find the derivative of y = (tanax)™".
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11. Given cosfeg)+ sin (z +y) = 1, find %L
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14. A plane is flies horizontally at an altitude of 10 miles and passes directly over a tracking
telescope on the ground. When the angle of elevation is %, this angle is d(‘C]&ch‘;lIlg at a

1o 10
rate of & radians per minute. How fast is the plane travehnglyl-tn Yiae Cm-]\e of {"‘ vation is T T
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15, Albert stands 120 ft to the west of Bill. Bgll starts running to the north at a speed of
10 ft/sec. How fast is the distance between Albert and Bill is increasing at the end of 5
seconds?
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16. Given f(z) = x3 — 62% — 15z + 1,

(a) Find all critical numbers for f(z) on the interval (—oo, 00).
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(b) Find the absolute maximum and absolute minimum of f(z) on the interval [—2,1].
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17. Find the local extrema of the following functions.
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18. Use the methods of Section 4.5 to find for f: the domain, intercepts, symmetry, asymp-
totes, intervals where f is increasing/decreasing, local extrema, intervals where [ is con-
cave up/down, and any inflection points. Use this information to graph f.
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